Foundation

BE THE NEXT GENIUS

Hindi Class 3 Sample Questions:

English:

1.Choose the correct word for the picture.

(A) Writer  (B) Dancer

(C) Singer (D) Painter

2.Choose the correct word.
Ram is sitting Laxman.

(A) at (B) beside (C) besides (D) into

P

T 4

3.Complete the sentence with the correct spelling of the word. £
The person who fixes pipes and other water supply fittings in a house or any other !
building is called a

(A) Plombir (B) carpenter (C) Plumber (D) Plumbar

4.Choose one sentence to complete the dialogue/paragraph.
Meenu : Hello! | am Meenu. What is your name? Lina :

(A) Hello! I am Lina (B) Hello! I am going home



(C) Let us go home (D) I am not fine

5.: Fill in the blanks with “a,an or the”.

Hindi is easy language.
(A)a (B) an (C) the (D)None of these

6.5 T o 3776 Al 3=y feehe TohiAd oY | Feafafad & @ ler &t fashod fearet
AT AT &7

(A) 819 (B) 890 (C) 80019 (D) None of these
7.2Y 18 T H TSI ol #ATH TAST:

(A)3TSTeTS (GRELE) \ /

(CeaE=t (D)ot

8.3 & e & 4 Yohe WA | Ycdeh Jehe A 5 e &1 T I el Tohclel foEpe A7
(A)20 (B)14

(C)18 (D)16

9.Teh AR HeTel T TRATT AT Y Afe; ST oIaTs ST diss & it T[T & |
s

dtsTs 40m TR et




(A) 302 m (B) 3200 m (C) 408 m (D) 320 m

10.63 &I fAehedH EBT$ oo qulifehd Y|

(A)50 (B)55 (C)60 (D)70
ICEIGHE

11.81aR T8Y T AT Tolcll § SHTAT T Teh AT El
(A)FRIT-FeT ST &

(B)Shfad et

(C)Tsita &t 3R fAsiia 4.

(D)3rshfad

12.fafef@a & @ Fi 319eT Ao T R R Gohdr &7
(A)STeerar (B)F

(D)eX wer

7/
oogen &

7 —
Glucose




13.77179 eRR [affeT QIR 3197 & fAcet a1 § oo aT AT g

(A)3TaT (B)Hg (C)geTeT (D)ca=r
14 [AEATATET H @ let =it & LT olanr?
(A) THS SEG Cc)&a OEIETKIE]
15. 9@t & g g
(A) oI 3R Aigr 9 n
(B) Tigr 3R v 9w
(C) Idell I
(D) Trel =T J L
HTHTT Ao
16. HRA I Tgoll AT TUTT HIAT & ST [oh 3G [T H QT ST TohdT
(AT et
(BYetacy 75
(C)3Tex amedy
(D)g=T3 & IS =L

17. wIet 7 fe@ T sisan e feua &
(A) HSS (B)aAT fewelr



(C)AeTs (D) STeThIdT
18.37RTSERT AT s HATIAT ST &

(A)S SfeT (B)22 39 INTERNATIONAL

(C)2135ET (D) 25 fedR

19.13ha gor T '3Td ST T SR g ST 82

(A) T (B) Tt (C) SIm4TeT (D) fTaTa=reT
Il
20.8H I 3R AGHH T Hehl & |

(A)OTCH TFeIX~ (B) TCollh?led TTedI  (C)BTSAT (D)3 A IS 18T

21 . TATH-Ue U TI8isT 9EIe § foaent 39T

(A) 30T
(B) uo fer@ar

(C) 31597 3egT

(D) FEIFHT IR =T

(A)SFEIT (B) ot &Y




(C)fzee Y

23 %G & IR H [AEATATET H @ it AT HUeT FEY 71g1 872

(A) 39 39 W hed @ oha & (B) 3119 3 W 39T TohH &l Y Tohol &
(C) 39 38 W AT Wl bl & (D) 319 SEY WIeTT 5T Fohe] & |



Answers:

1D 2B 3C 4A 5B 6A 7D 8A 9D 10C

1.0 12.D 13.A 14.C 15B 16.C 17.B 18.C 19.C 20.C
21.C 22.A 23D



